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Identify the correct simile —

(a) He is a very clever man. [ ] (b) She is as wise as an owl. [ ]
(¢) The sun shone brightly. [] (d) The book is interesting. [

Pick the adverb and its type in the sentence —

‘He rarely attends the meetings.”

(a) rarely - adverb of time. [ ] (b) rarely - adverb of frequency. [ ]
(c) attends - adverb of manner. [ ]  (d) meetings - adverb of place. ]

This is the performance I have ever seen.
(a) more brilliant [ ] (b) most brilliant [_]
(¢) very brilliant [] (d) brilliantly []

The suffix in the word ‘Education’ is —

(a) -on [] (b) -ion [] (c) -tion [] (d) -ation []

Find out the adverb in the sentence —

‘Her old friend could not recognize her

(a)old [] (b) could [] (¢) not [] (d) recognize [ ]

The superlative form of ‘ill’ is —

(a) evilest [] (b) illest [ ] (c) worst [] (d) bad []

Choose the correct option —
He not tell her the truth.”

(a) dare [] (b) dares [] (¢) daring [] (d)do []

Fill in the blank in the following sentence with the correct form of the verb —
‘1 him since Monday.’

(a) am not seeing [ ] (b) did not see [ |

(¢) have not seen [] (d) had not seen [_]

Choose the word most nearly opposite in meaning to the key word: ‘Friendly —
(a) Hostile []  (b) Strange [ ] (c) Humane []  (d) Indifferent []

Fill in the blank in the sentence below with the correct word —

“One must keep promise

(a) his [] (b) one’s [] (c) the [] (@) a []
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